0288 =8 33 ¢

S DIHZSHD
Ha: OIRNH 4

2|
ool QIPFE X

[l

H & 0l & AHS B Ml A

B3|l Ol =SS A2t

He
I

| X

(i

SA - B S9(SH) - NIRAY - BES o ar o HIDS2
DICHBSH 2t 24,577,791 24,331,587 246,204
2 605,375 634,875 £29,500
2 6,985,659 7,081,159 245,500
s 75,000 75,000 0
= 3,406,966 2,909,408 497,558
2 13,016,791 13,198, 145 A176,354
A 488,000 488,000 0
QIRHH 48 o =7 507,460 524,400 A16,940
= 23,176 28,363 £5,192
2 484,284 496,032 AN1,748
EEEESS 507,460 504,400 216,940
= 23,176 28,363 25,192
2 484,284 496,032 A11,748
QIPFM =X I8k X4 85,820 89,780 3,960
202 it 0 2,000 £2,000
ETETT 0 2,000 22,000
O 4Rl HTX 28 A 02! 0 2,000 £2,000
301 YerEFI 8,040 10,000 A1,960
14 J|EL 2 A2 8,040 10,000 ~1,960
O BoH 25 243
2% 8,040,0002! 8,040 10,000 ~1,960
&§$$ CHIGDIE 22702 HIE0IT A8 A(E 31,840 44,820 A12,980
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= 2,736 17,928 25,192
2 19,104 26,892 A7,788
301 YrEEI 31,840 44,820 A12,980
= 2,736 17,928 £5,192
z 19,104 26,892 AT7,788
14 J|Et 2 A2 31,840 44,820 212,980

O MERL - CRUIIE 22Xl HE0IX
XIS A 31,840,002 31,840 44,820 A12,980
= 2,736 17,928 £5,192
2 19,104 26,892 A7,788
EEET 6,740,5% 6,326,5% 414,000
2 518, 159 522,659 £4,500
= 2,452,850 1,924,850 528,000
2 3,769,586 3,879,086 £109,500
EEEEIESS 1,725,560 1,780,560 255,000
= 549,200 549,200 0
2 1,176,360 1,231,360 55,000
U YUFe () +ell X 15,000 45,000 230,000
402 BIRIXHZO1 15,000 45,000 230,000
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2 15,000,002 15,000 45,000 30,000
U e 22 N Al 74,400 84,400 10,000
401 AIEHI L2 0b] 60,000 70,000 10,000
01 Al&t] 60,000 70,000 10,000
O EHd =Y 22 U AIY(DAZAH)
21 60,000, 0002 60,000 70,000 A10,000
HUSHR2 SCABRA B4 XA(AT) 30,000 45,000 15,000
402 QI2FXH20/H 30,000 45,000 15,000
01 BIEXHE ALY A (XA THR! ) 30,000 45,000 15,000
O BES32 SCa2A Z4 T8
215 30,000, 0002 30,000 45,000 A15,000
SNEIEE 3,390,561 3,449,561 59,000
2 518, 159 522,659 A4,500
= 360,950 360,950 0
= 2,511,452 2,565,952 A54,500
NFETS FUAT2 A 569,352 578,352 9,000
2 132,930 137,430 A4,500
= 436,422 440,922 A4,500
307 0I2+0 & 569,352 578,352 9,000
2 132,930 137,430 A4,500
2 43,422 440,922 A4,500
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2% 0l 0 9,000 9,000
= 0 4,500 A4,500
2 0 4,500 A4,500
My HU 0122 Z2ME AR () 83,220 133,220 50,000
301 LLHBHD 20,000 0 20,000
14 JIEHR A 20,000 0 20,000
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2,500,000 x424x23] 20,000 0 20,000
307 £I2¢0 A 63,220 133,220 A70,000
2 DIRIBA AT 63,220 133,220 A70,000
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2 & 63,220,000 63,220 133,220 A70,000
NEPIESE 1,528,000 1,000,000 528,000
= 1,528,000 1,000,000 528,000
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= 1,528,000 1,000,000 528,000
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Z2& 1,528,000,000& 1,528,000 1,000,000 528,000
T 1,528,000 1,000,000 528,000
FUXEH & SAHR FA 1,088,386 1,124,486 236,100
= 200,000 200,000 0
= 10,440 10,440 0
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L= 3,000 3,000 0
i 852,163 888,263 236,100
FRIXX 43 =& 215,000 221,000 26,000
301 LEIEBE S 3,000 9,000 26,000
11 HALAHIXIEZ 3,000 9,000 26,000
O A2FQIXIXIL2E &I
Z2& 03 0 6,000 26,000
S FOUXX(HA)3 &= XA 286,540 316,640 230,100
201 2] 228,640 235,640 27,000
03 #At2HH] 28,000 35,000 A7,000
O g8 Fo153 Ha
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O S8 FOUXX(FIR)E WA 42
Z2&E 25,900,000& 25,900 49,000 223,100
MBI BEH 43t =& 1,038,935 1,201,8% A 162,960
= 158,800 188,300 229,500
s 315,000 356,000 241,000
L= 99,578 122,728 223,150
i 465,557 534,867 269,310
A EDIY =4 1,033,935 1,196,8% A 162,960
= 158,800 188,300 229,500
s 315,000 356,000 241,000
= 99,578 122,728 A23,150
= 460,557 529,867 269,310
ABIZD IS H (LRI EE, ME) 380,000 348,000 32,000
= 285,000 261,000 24,000
= 19,000 17,400 1,600
i 76,000 69,600 6,400
307 QI2Hol A 380,000 348,000 32,000
= 285,000 261,000 24,000
L= 19,000 17,400 1,600
i 76,000 69,600 6,400
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2 285,000 261,000 24,000
= 9,000 17,400 1,600
2 76,000 69,600 6,400
ABIEDI SA (AFIONe) 15,000 57, 160 242,160
2 10,500 40,000 £29,500
= 3,150 5,160 £2,010
2 1,350 12,000 210,650
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2 10,500 40,000 £29,500
< 3,150 5,160 £2,010
=z 1,350 12,000 A10,650
EIEEVOVSEES 15,000 57,160 242,160
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A3 15,000,002 15,000 57, 160 £42,160
2 0,500 40,000 £29,500
< 3,150 5,160 £2,010
Z 1,350 12,000 A10,650
#ors 0120l 84 60,000 190,000 130,000
= 30,000 %,000 265,000
< 9,000 28,500 A19,500
2 21,000 66,500 £45,500
307 SI2H0IH 60,000 90,000 130,000
2 30,000 %,000 65,000
= 9,000 28,500 £19,500
2 21,000 66,500 A45,500
02 QRIFMA S E 60,000 90,000 130,000
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217 60,000,002 60,000 190,000 £130,000
2 30,000 %,000 265,000
= 9,000 28,500 A19,500
2 21,000 66,500 £45,500
ASIEHZHIIY RIS 77,3% 8,1% 210,800
< 23,218 26,453 £3,240
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[ 465,950 468,050 A2,100
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z 12,600 17,500 A4,900
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23 18,000,000 18,000 25,000 A7,000
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2 12,600 17,500 A4,900
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z 3,492,000 3,492,000 0
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A 488,000 488,000 0
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101 1A 3,520 7,680 A4,160
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201 2Bt ] 100, 100 119,100 19,000
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01 =NEXSEES 134,174 21,179 112,99
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&kl 26,000 26 0 26
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